HAR—1 FRIGRE - RE RREKROBBE (2R
o A% (H28)
£ 12 13 14 F Bl Et A =
L % LS ) S 7 LS % x 0
X 5 AE-%| N B % | N B % A B | % 8 % | N B % B 1 % A B % | N B % | AN B %

Z R OF K 8, 824 7, 890 8, 603 7,463 8, 439 7,099 25, 866 22, 452 48, 318
% 1.0 K% 0.7 LLE 988| 11.2 1,051| 13.3 1,012| 11.8 962 12.9 1,066| 12.6 866| 12.2 3,066 11.9 2,879 12.8 5,945 12.3
| [ 0.7 A 0.3 LIk 1,331 15.1 1,394 17.7 1,385| 16.1 1,405| 18.8 1,399 16.6 1,379 19.4 4,115 15.9 4,178| 18.6 8,293 17.2
11 0.3 s 1,087| 12.3 1,395 17.7 1,236 14.4 1,566] 21.0 1,341 15.9 1,505 21.2 3,664 14.2 4,466| 19.9 8,130 16.8
% Lo K & Fh(a) 3,406| 38.6 3,840| 48.7 3,633 42.2 3,933 52.7 3,806| 45.1 3,750 52.8| 10,845 41.9| 11,523 51.3 22,368 46.3
77 BTG IEA CRRRBLT) S 91| 9.0 1,190 15.1 985| 11.4 1,409 18.9 1,043 12.4 1,401 19.7 2,819 10.9[  4,000[ 17.8} 6,819 14.1
G EE TRRIRH I AR F i # (b) 1,062| 12.0 1,673 21.2 1,490 17.3 2,219] 29.7 1,903 22.6 2,735| 38.5 4,455 17.2 6,627| 29.5 11,082 22.9
#woh B H@+b) 4,468| 45.2 5,513| 57.6 5,123| 50.8 6,152| 63.5 5,709 55.2 6,485 65.9| 15,300 50.5 18,150 62.4f 33,450 56.3

Z B OF ¥ 9, 730 9, 449 7,184 6, 906 8,903 8, 402 25, 817 24, T57 50, 574
i3] = Y M IR = A 1l 0.0 2| 0.0 4] 0.1 of 0.0 25| 0.3 28] 0.3 30 0.1 30 0.1 60| 0.1
7 LL X —PEIR R R 145 1.5 85 0.9 123 1.7 77 1.1 148 1.7 66| 0.8 416 1.6 228 0.9 644 1.3
ZOMOREE - BE 147 1.5 115 1.2 107 1.5 78] 1.1 157] 1.8 89| 1.1 4111 1.6 282 693 1.4

Z B O F % 9,657 9,379 4,770 4, 582 6, 362 6, 034 20, 789 19, 995 40, 784
" 5 VA3 Ja5) 470 4.9 347 3.7 242 5.1 213| 4.6 262 4.1 139] 2.3 974| 4.7 699 3.5 1,673 4.1
a N (L 419] 4.3 234| 2.5 152 3.2 88| 1.9 247| 3.9 151 2.5 818] 3.9 473 2.4 1,291 3.2
5 1 ZEnFnE R R - B 46 0.5 30l 0.3 19 0.4 23 0.5 36 0.6 14| 0.2 101 0.5 67 0.3 168 0.4
7 LV — s 662| 6.9 403 4.3 284] 6.0 207| 4.5 260| 4.1 207 3.4 1,206 5.8 817| 4.1 2,023 5.0

T Z B O#F 9,911 9, 540 0 0 10, 053 9,536 19, 964 19,076 39, 040
7 e B 911 0.9 57| 0.6 0| 0.0 of 0.0 62 0.6 82| 0.9 153] 0.8 139] 0.7 292| 0.7

L S § 9, 783 9,474 9,936 9, 562 10, 211 9,715 29, 930 28, 751 58, 681
FL e & SE T A 77 7.9 568| 6.0 298| 3.0 289 3.0 150 1.5 161 1.7 1,225 4.1 1,018 3.5 2,243 3.8
x WL & E 374| 3.8 209 2.2 115 1.2 78] 0.8 56 0.5 48[ 0.5 545 1.8 335 1.2 880| 1.5
53 5 PR B A 1,151 11.8 77 8.2 4131 4.2 367 3.8 206 2.0 209 2.2 1,770 5.9 1,353 4.7 3,123 5.3
7K WE e T OE 1,572 16.1 1,731| 18.3 1,851| 18.6 1,965| 20.6 2,114 20.7 2,374| 24.4 5,537 18.5 6,070 21.1ff 11,607 19.8
U rx oL E OE 972 9.9 917| 9.7 1,064| 10.7 1,008| 10.5 1,386| 13.6 1,211 12.5 3,422 11.4 3,136 10.9 6,558 11.2
|t ) WA E 2,544 26.0 2,648| 28.0 2,915 29.3 2,973 31.1 3,500 34.3 3,585 36.9 8,959 29.9 9,206 32.0f 18,165 31.0
ok WoE e T & 1,945| 19.9 1,988| 21.0 1,988| 20.0 2,081 21.8 2,183 21.4 2,438| 25.1 6,116| 20.4 6,507 22.6 12,623 21.5
A x WL oEE 1,253| 12.8 1,058 11.2 1,136] 11.4 1,064| 11.1 1,420| 13.9 1,235| 12.7 3,809 12.7 3,357 11.7 7,166 12.2
. B ) R A E 3,198 32.7 3,046| 32.2 3,124 31.4 3,145 32.9 3,603 35.3 3,673 37.8 9,925 33.2 9,864 34.3[ 19,789 33.7
5 W D 6,585 67.3 6,428| 67.8 6,812| 68.6 6,417| 67.1 6,608| 64.7 6,042| 62.2 20,005 66.8| 18,887 65.7 38,892 66.3
T Ol O H OE R 1,127] 11.5 969| 10.2 886| 8.9 739 7.7 796 7.8 626| 6.4 2,809| 9.4 2,334 8.1 5,143| 8.8
0 pe o % - 2BE 39 0.4 171 0.2 19 0.2 28 0.3 300 0.3 31 0.3 88| 0.3 76| 0.3 164 0.3
1 NET72 0 KA 5 L 0.6 0.7 0.8 0.9 1.0 1.2 0.8 0.9 0.9
ISR 975 10.0 988| 10.4 1,169 11.8 1,128| 11.8 1,250| 12.2 1,374 14.1 3,394 11.3 3,490 12.1 6,884 11.7
A OAREEGO 1,176] 12.0 72| 8.1 1,141| 11.5 793 8.3 1,294 12.7 829| 8.5 3,611 12.1 2,394 8.3 6,005 10.2
A D IKHEG 334 3.4 218] 2.3 391 3.9 226 2.4 500| 4.9 251 2.6 1,225 4.1 695 2.4 1,920 3.3
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a1 12 13 14 % Bl Gt N
P Bl 5 S ) S 5 & 5 S -
X 4y ANE % B[ % Bl % [ AB [ % Bl % | ANB | % Bl % | AB [ % ]| ANBE | % | ANB | %
il = B #F % 9, 893 9,591 10, 109 9, 753 10, 358 9,943 30, 360 29, 287 59, 647
¥ TR 5SS <3 3] 0.0 3] 0.0 10l 0.1 10l 0.1 8| 0.1 5/ 0.1 21 0.1 18] 0.1 39 0.1
= B’ & # 9, 895 9, 540 10, 103 9,671 10, 339 9, 823 30, 337 29, 034 59, 371
E oA M o & 95| 1.0 71| 0.7 128 1.3 73] 0.8 164 1.6 75| 0.8 387 1.3 219 0.8 606 1.0
IR i A AR <3 2| 0.0 8| 0.1 71 0.1 14 0.1 8| 0.1 14 0.1 171 0.1 36 0.1 53 0.1
Bmom B 67 T 190 2.0 64 0.6 186 1.9 63| 0.6 2021 2.1 194 0.6 578| 2.0 772 1.3
= B OF g 9,836 9,536 10, 063 9, 687 10, 370 9, 869 30, 269 29, 092 59, 361
FEOIEHFT R A 217 2.2 199 2.1 229 2.3 196] 2.0 207 2.0 192| 1.9 653 2.2 587 2.0 1,240 2.1
® R E AR 9| 0.1 15| 0.2 8| 0.1 271 0.3 5[ 0.0 1l 0.1 22[ 0.1 53 0.2 750 0.1
=& e A 212 2.2 144 1.5 162| 1.6 139 1.4 195 1.9 148] 1.5 569 1.9 431 1.5 1,000 1.7
FH | A T A& F K 358 3.6 310 3.3 421 4.2 436| 4.5 445 4.3 402 4.1 1,224 4.0 1,148] 3.9 2,372 4.0
N BES | F A o A E 49l 0.5 100 1.0 55 0.5 142| 1.5 74 0.7 120 1.2 178 0.6 362 1.2 540 0.9
PURE | & oftioo 3k - s R 29] 0.3 16) 0.2 55| 0.5 331 0.3 35| 0.3 26| 0.3 119| 0.4 75 0.3 194 0.3
N CE N E S T e Nt 35 0.4 30| 0.3 56| 0.6 38| 0.4 411 0.4 31 0.3 132 0.4 99| 0.3 231 0.4
Bl 18 %« M K E %R of 0.0 of 0.0 of 0.0 of 0.0 of 0.0 of 0.0 of 0.0 ol 0.0 of 0.0
T | S S 5 171 1.7 124] 1.3 185| 1.8 147 1.5 142| 1.4 144 1.5 498 1.6 415 1.4 913 1.5
# A B D H 527| 5.4 338 3.5 589 5.9 362 3.7 487 4.7 327 3.3 1,603| 5.3 1,027 3.5 2,630 4.4
Bl " & % 5 17 0.2 14 0.1 20 0.2 18[ 0.2 22| 0.2 20 0.2 59| 0.2 52 0.2 11| 0.2
0o v A ME R R 56| 0.6 52 0.5 70| 0.7 71l 0.7 72| 0.7 60| 0.6 198] 0.7 183[ 0.6 381 0.6
B MEo OB 2 0.0 0| 0.0 3l 0.0 of 0.0 2| 0.0 1l 0.0 71 0.0 1| 0.0 8| 0.0
pe| OB B RE R OF 9] 0.1 4] 0.0 9] 0.1 8| 0.1 16| 0.2 71 0.1 34/ 0.1 19 0.1 53 0.1
g &K & 5% of 0.0 of 0.0 of 0.0 of 0.0 1l 0.0 of 0.0 1l 0.0 of 0.0 1l 0.0
EE =3 & 71 0.1 6| 0.1 1l 0.0 2 0.0 4 0.0 5/ 0.1 12[ 0.0 13 0.0 25| 0.0
Bl A &y i3 = 133] 1.4 74| 0.8 126 1.3 68| 0.7 125 1.2 90[ 0.9 384 1.3 232 0.8 616| 1.0
=1 il JiE 60| 0.6 52 0.5 68| 0.7 147 1.5 62| 0.6 144 1.5 190| 0.6 343 1.2 533 0.9
W VS ] 3[ 0.0 5[ 0.1 4 0.0 6 0.1 5/ 0.0 8 0.1 12 0.0 19 0.1 311 0.1
T LV — A B RE R E 266 2.7 217| 2. 258| 2.6 187 1. 284 2.7 215 2. 808 2.7 619 2.1 1,427 2.4
Z DA DRI BLH 137 1.4 1271 1.3 115 1.1 149| 1.5 135 1.3 146| 1.5 387 1.3 422 1.5 809 1.4
ﬂg = ® & # 9, 809 9,536 0 0 0 0 9, 809 9,536 19, 345
5=N
T L 387 3.9 2701 2.8 of 0.0 of 0.0 of 0.0 of 0.0 387 3.9 270 2.8 657| 3.4
" = B’ & # 9, 905 9, 546 10, 118 9, 756 10, 431 9, 926 30, 454 29, 228 59, 682
ZERTOMHZ LIHE 12[ 0.1 71 0.1 13 o1 14 0.1 16[ 0.2 1 0.1 411 0.1 321 0.1 73] 0.1
* LD D BAEE R DO X RA 3] 0.0 3] 0.0 6] 0.1 6] 0.1 8| 0.1 5/ 0.1 171 0.1 14| 0.0 31 0.1




